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Which of the following is not regarded as the
characteristic feature of scientific method?

a) Reliability

b) Common sense observation
¢) Validity

d) Replaceability

What is the proper sequence of the

following?

1. Members of similar age-group available
with interest in recreational activities.

ii. Group becomes cohesive and goals
achieved.

iii. Group goals are identified and clearly
stated.

iv. Programme planned and carried out.

a) 1 1v 1 1
b) 1 111 i v
c) i il v i
d) i 1 v 1

The standard deviation of sampling
distribution of a statistic is known as

a) Standard Error
b) Sampling Variance
¢) Standard Variance
d) Sampling Error

Which of the following theories propounds
that childhood experiences influence the
adult behaviour?

a) Person-Centred theory

b) Behaviour Modification Theory
c) Existential Theory

d) Psychoanalytic Theory

The method of research used by the
Government of India while conducting
Censusis known as:

a) Case Study
b) Experimental
c) Ethnography
d) Survey
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A small tightly knit group in the community
which controls policy making for the entire
community is known as:

a) PowerElite

b) Marginal Group
c) Weaker Section
d) Power Generals

Which of the following option is not
associated with social casework?

a) Purposeful expression of feelings
b) Judgemental Attitude

¢) Self-determination

d) Confidentiality

Two variables X and Y are significantly
correlated. This means that:

a) Xcauses variationinY

b) Y causes variationin X

¢) XandY vary together

d) Nosuch conclusion may be drawn

Which of the following option is a task of the
group leader?

a) Diffuse conflict
b) Initiate conflict
¢) Sustain conflict
d) Enhance conflict

Which of the following played an important
role in Indianisation of Social Work
Education?

a) MN Srinivas

b) Gauri Rani Banerjee
¢) GSGhurye

d) ElminaLucky

Right to Education was included as
Fundamental Right under which of the
following Article of the Indian Constitution?

a) Articlel8-A
b) Article20-B
c) Article21-A
d) Article22-C
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In which year was the ‘Kyoto Protocol’
adopted?

a) 2012
b) 1998
¢) 2005
d) 1997

Which of the following is not common to
Experimental and Ex-post Facto designs of
research?

a) Causeand Effectrelationship

b) Controlling extraneous variables

¢) Manipulation of independent variable
d) Observation of dependent variable

According to the Census 2011 conducted by
Government of India, which of the following
options is one of the criteria for defining an
‘urban area’?

a) A density of population of at least 400
persons per sq. km.

b) Aminimum population of4,000
¢) Aminimum population of 10,000

d) At least 65 per cent of the male main
working population

Persons who conceptualise and start an NGO
are known as:

a) Resource Persons
b) Founder Members
c) Volunteers

d) Pioneers

A group of people interacting over internet
rather than face to face for social,
professional, educational or other purposes
constitutea............... community.

a) geographical
b) virtuous
c) transnational
d) virtual
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The major principles of social group work are

a) Programme planning, development
sequence, systematic study, frequency
distribution

b) Planning, organising, facilitation,
evaluation

c) Progressive programme experience,
guiding group interaction, specific
objectives, evaluation

d) Group enhancement, specific learning,
rejection study, development

Which of the following district of Himachal
Pradesh is associated with the 1998 terrorist
attack?

a) Chamba
b) Kangra
¢) Mandi

d) Kinnaur

Which of the following is not a characteristic
feature of aresearch objective?

a) Attainable
b) Uncertain
¢) Measurable
d) Specific

What should be the nature of changes

introduced during the process of community

organisation?

a) Imposed by the richest family in the
community

b) Imposed by the religious leader in the
community

¢) Imposed by the community organiser

d) Self-imposed using a participatory
approach by the members of the
community

What is the correct order of the following
conflicts occurring in an individual’s life?

1. Autonomy V/s self-doubt
2. Identity V/s Role confusion
3. Competence V/s Inferiority
4. Intimacy V/s Isolation

a) 1234

b) 1324

c) 2314

d) 4312
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Which of the following variable is
continuous?

a) Attitude towards school

b) Familysizeinalocality

¢) Marital status of university students
d) Religion of workers

The distribution of a large number of means
based on samples of the sample size selected
from the same population is known as:

a) normal distribution

b) rectangular distribution
c) standard distribution
d) sampling distribution

When the questions are presented to the
respondents in a face-to-face situation and
the interviewer fills out the queries rather
than the subjects it is known as:

a) Aninventory
b) Aquestionnaire
c) Aschedule

d) Atest

Which of the following is not categorised as a
probability sampling method?

a) Simple Random Sampling

b) Stratified Sampling

c) Systematic Sampling

d) Snowball Sampling

The Fundamental Duties are dealt with in
Article.......... of'the Indian Constitution.

a) 49B
b) 50C
c) SIA
d) 52A

Which of the following committee examined
the community development programme in
India?

a) BalwantRai Mehta Committee

b) LM Singhvi Committee

c) GVKRaoCommittee

d) Ashok Mehta Committee
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Which among the following is an example of
acommunity?

a) marriage party
b) village

c) refugee camp
d) jointfamily

Arrange the following types of data in the
order of their complexity:

I. Interval

II. Ratio

III. Ordinal

I'V. Nominal

a) 1V, III, I, 11
b) I, I, 111, v
c) IV, III, II, I

d I, 1, 111, v

Social casework is primarily used to help
individuals to deal with:

a) Inter-group conflicts
b) Inter-community issues
¢) Interpersonal problems
d) Family condition

A process following learning during which a
memory becomes more firmly established is
called:

a) over-learning
b) consolidation
c¢) transfer period
d) constructive processing

Which of the following is a software for
qualitative data analysis?

a) R

b) SPSS
c) Stata
d) NVivo

In which year was ‘The Maintenance and
Welfare of Parents and Senior Citizens Act’
promulgated?

a) 2007
b) 2006
c) 2009
d) 2005
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Which of the following is a characteristic
feature only of experimental studies?

a) Control of extraneous variables
b) Study of cause and effect relationship

c) Observing variation in the dependent
variable

d) Manipulation of treatment variable

Which of the following can be an objective of
a ‘Legal Aid Society’?

a) Topreventvictims from getting justice

b) Toprovide legal advice to the poor people
c) Todelayjustice

d) Tomake legal services expensive

Reorganise the following steps of descriptive
research in a correct sequence:

(a) Collection and processing of data
(b) Interpretation of results

(c) Identification of'a problem

(d) Drawing conclusions

(e) Drafting of the report

(f) Formulation of hypothesis

a) fcabde
b) fcbaed
c) cfabde
d) cfbaed

The NGO where Ram is employed is
working for abolishing untouchability. They
are empowered by the Article .......................
of the Indian Constitution abolishing
untouchability in India.

a) 20
b) 18
c) 17
d) 19

The concept of ‘Integral Humanism’ is
associated with.........

a) GauriRani Banerjee
b) Atal Bihari Vajpayee
¢) Nanaji Deshmukh

d) Deendayal Upadhyaya
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A person reflecting his anger from his boss to
his child, is an example of:

a) Projection

b) Displacement

c) Reaction Formation
d) Regression

The programme under which students from
universities started living in slum areas to
strengthen the poor relief work in UK was
known as:

a) Settlement House Movement
b) Hull House Movement

c) Charity Organisation Society
d) YMCA

a) 4(Median)
b) 3 (Median)
c) 5(Median)
d) 2(Median)

Intervening variables can be controlled by:
a) Description

b) Conceptualisation

c) Evaluation

d) Randomisation

The renowned expert of the problem-solving
model is:

a) HH Perlman
b) MRichmond
c) AGQGarrett

d) SFreud

Which one of the following is known as the
process by which cultural traits spread from
one culturally distinct group to another?

a) Evolution

b) Assimilation

c) Diffusion

d) Accommodation

In the process of statistical inference, the
Type Il Error is committed when we

a) Acceptafalse null hypothesis
b) Rejecta false null hypothesis
c) Rejectatrue null hypothesis
d) Acceptatruenull hypothesis
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Who proposed ‘Client Centred Therapy’?
a) AnnaFreud

b) Carl Rogers

¢) Albert Bandura

d) Alfred Adler

‘Social networks’ are central to which of the
following option?

a) Human Capital

b) Financial Capital

¢) Social Capital

d) Natural Capital

What statistical test appears to be suitable for
evaluating mean differences?

a) Independent samples t-test

b) One-way ANOVA for independent
groups

¢) Chi-square test

d) Paired samples t-test

The main aim of a qualitative research is to:
a) study group-differences

b) predictrelationships

¢) providedetailed description

d) explain variation in measurements

Participant observation method is suited for
the study of:

a) Tribal Culture

b) Phenomenon of Globalisation
¢) Climate

d) National Culture

Which of the following option is not directly
under the purview of National Institute of
Social Defence?

a) Substance Abuse Prevention
b) Rural Development

¢) Welfare of Older Adults

d) Beggary Prevention
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112.

113.

114.

115.

116.

117.

Which of the following is known as ‘fight-or-
flight” hormone?

a) Serotonin
b) Oxytocin
¢) Dopamine
d) Adrenaline

The degree to which an instrument really
measures what it intends to measure is
called?

a) Reliability
b) Validity

¢) Construct
d) Neutrality

Which of the following Padma Shri award
winner 1s associated with cremation of
strangers during Covid-19 pandemic?

a) SangkhumiBualchhuak
b) BirubalaRabha

¢) Marachi Subburaman
d) Jitender Singh Shunty

The term used synonymously with
‘Development Sector’ is:

a) Corporate Sector

b) Peoples’Sector

c) Not-for-Profit Sector

d) Non-governmental organisation

The values of mean, median and mode
coincideina........ distribution.

a) symmetrical distribution
b) asymmetrical distribution
c¢) J-shaped distribution
d) Bernoulli distribution

Which of the following options is not
a characteristic feature of any rural
community?

a) Traditional way oflife

b) Economy based on agriculture
¢) Anonymity

d) Group feeling
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118.

119.

120.

Who delivered famous lecture on “Is Social
Work a Profession?”

a) Marie Weil

b) Mary Richmond
¢) Jane Adams

d) Abraham Flexner

Which of the following founded the
‘Anandwan’?

a) Sunderlal Bahuguna
b) BabaAmte

¢) Jagdish Chaudhary
d) VinobaBhave

‘Perspectives in Social Work’ is published
by:

a) Nirmala Niketan

b) University of Delhi

c) TataInstitute of Social Sciences

d) University of Lucknow



